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Sr Questions Answers Choice

1

Identify the error

Like their counterparts in other countries the student movement in the united states in
the 1960 was a powerful one and probably helped to bring the war in Vietnam to an
end

A. Like their counterparts in other
countries the student movement in
the united states in the 1960s
B. As in other countries the student
movement in the United States in the
1960s
C. Just as the student movements in
other Countries the student
movement in the United States in the
1960s
D. Like its counterparts in other
countries the student movement in
the United states in the 1960s
E. The student movement in the
united States in the 1960s. like in
other countries

2

Identify the error

The commission studying mass transportation suggested that the Metropolitan
Transit Authority hold off purchasing new subway cars and spend money instead on
preventive maintenance of all cars on repairs of substandard cars on crime
prevention in all stations an better lighting for the busiest stations

A. On crime prevention in all stations
an better lighting for the busiest
stations
B. On crime prevention in all stations
and better lighting for the busiest
stations
C. On crime prevention in all stations
and for better lighting in the busiest
stations
D. On crime prevention in all stations
and on better lighting for the busiest
stations
E. On the prevention of crime in all
stations and for better lighting in the
busiest stations

3

Identify the error

The accident victim was very grateful to the hospital that had saved his life but viewed
his insurance company with suspicion out of fear that it will refuse to pay his claim
and very expensive medical bills

A. Out of fear that it will refuse
B. In fear that it will refuse
C. Out of fear that it would refuse
D. Out of fear that it is refusing
E. Out of fear that they will refuse

4

Identify the error

It is characteristic of the Metropolitan Opera as of every major international company
that the casting is based more on the availability of singers as it is on the tastes of
the music director and the public

A. As of every major international
company that the casting is based
more on the availability of signers as
it is
B. As it is of every major international
company that the casting is based
more on the availability of singers
than it is
C. As it is of every major international
company that the casting had been
based more on the availability of
singers as
D. As about every major international
company that casting is based more
on the availability of singers than it
was
E. As it is of every major international
company where the casting is based
more on the availability of singers
than it is

5

Identify the error

The selection in the free agent draft was based less on the players availability and
more on his willingness to accept a low salry

A. and more on
B. than
C. but more on
D. as on
E. than on

6

Identify the error

Having been ordered by the judge to resume alimony payments Mrs Jones was still
not required by it to see her children on weekends

A. Ms Jones was still not required by
it
B. Still had not been required by it
C. Still was not to be required
D. Was still not required
E. Was not sufficiently required

A. Edgar Allan poe whose works



7

Identify the error

Unlike Edgar Allan Poe whose works were ignored in his native country the works of
Hawthorne were read and appreciated by the public and by contemporary critics

A. Edgar Allan poe whose works
were ignored in his native country
the
B. Edgar Allan Poe whose native
country ignored his work the
C. The works of Edgar Allan Poe
ignored in his native country the
D. The works of Edgar Allan Poe
which were ignored in his native
country the
E. The works of Edgar Allan Poe
having been ignored in his native
country the

8

Identify the error

Jockeys at most racetracks become familiar with the horses by riding them in early
morning workouts which keeps both the jockeys and the horses in good condition

A. Become familiar with the horses by
riding them in early morning workouts
which
B. become familiar with the horses
and also ride them in early morning
workouts which
C. Become familiar with the horses
by riding them in early morning
workouts a practice which
D. Ride horses to become familiar
with them in early morning workouts
which
E. ride horse in early morning
workouts and become familiar with
them which

9

Identify the error

Mens interest in developing a cure for cancer have promoted the rapid advances in
the abstruse field now known as Genetic Engineering

A. Mens interest in developing a cure
for cancer have promoted
B. Mens interest in developing a cure
for cancer has promoted
C. That men are interested in
developing a cure for cancer have
promoted
D. Interest in developing a cure fore
cancer has promoted
E. Mans interest in developing a cure
for cancer has promoted

10

Identify the error

Since they shared so much when they were growing up Elizabeth and Sarah have
cultivated a very special friendship and even now confide their most intimate thoughts
only to one another

A. To one another
B. One with the other
C. One with another
D. Each to the other
E. To each other

11

Identify the error

His remarks amount to a cheeky intrusion into my private affairs

A. A shameless interference
B. a friendly intervention
C. A fresh prying
D. A brisk meddling

12

Identify the error

I am going to dispense with this furniture now

A. Going to buy
B. Going to have
C. Going to get rid of
D. Going to supply

13

Identify the error

Notwithstanding his failure he is hopeful

A. He had failed therefore he is
hopeful
B. Despite his failure he is still
hopeful
C. He is hopeful because he has
failed
D. He has failed and he is hopeful

14

Identify the error

I tried to convince him but he was of the same opinion still

A. I tried to convince him but he didnt
agree
B. I tried to convince him but he
remained neutral

C. I tried to convince him but to no
avail
D. I tried to convince him but he
disagreed

15

Identify the error

It was really an indigestible food

A. It was a food that was indigestible
B. This food was not to be digested
C. It was a food that could not be
digested
D. It was really such a food that it
could not be digested

16

Identify the error

The director of the Miss America pageant continues to maintain that the judges
ultimate choice is based less on the physical appearance of the contestant as on her
intelligence talent and personality

A. As on
B. And more on
C. Than on
D. But more on



intelligence talent and personality
D. But more on
E. than

17

Identify the error

The mayors media advisor together  with his three top aides are traveling with him on
a tour of European capital cities

A. Media advisor together with his
three top aides are
B. Media advisor also his three top
aides are
C. Media advisor as well as his three
top aides is
D. Media advisor along with his three
top aides are
E. Media advisor all in the company
of his three top aides is

18

Identify the error

If science can find a cure for cancer if the nuclear arms race can be stopped and if
people can work together to resolve mutual differences are the topics around which
the seminar has been planned

A. If science can find a cure for
cancer if the nuclear arms race can
be stopped and if people can work
together to resolve mutual
differences are
B. Whether science can find a cure
for cancer whether the nuclear arms
race can be stopped and whether
people can work together to resolve
mutual differences are
C. If science can find a cure for
cancer if the nuclear arms race can
be stopped and if people can work
together to resolve mutual
differences is
D. Whether science can find a cure
for cancer whether the nuclear arms
race can be stopped and whether
people can work together toward the
resolution of mutual differences
E. That science can find a cure for
cancer that the nuclear arms race
can be stopped and that people can
work together to resolve mutual
differences is

19

Identify the error

Having discovered the Roman aristocrats to be suffering from lead poisoning it is
now thought that this was a major cause of their inability to reproduce

A. having discovered the Roman
aristocrats to be suffering from lead
poisoning
B. To have discovered the Roman
aristocrats to be suffering from lead
poisoning
C. Since scientists have discovered
that the Roman aristocrats suffered
from lead poisoning
D. Since the suffering of lead
poisoning by Roman aristocrats was
discovered by scientists
E. Due to the fact Roman aristocrats
were suffering from lead poisoning
was discovered by scientists

20

Identify the error

Many people mistakenly believe that the bodys nutritional requirements remain the
same regardless of the quantity and form of other nutrients ingested physical activity
and emotional state

A. Regardless of the quantity and
form of other nutrients ingested
physical activity and emotional state
B. Regardless of the other nutrients
physical activity and emotional
state&nbsp;
C. Regardless of the quantity of
nutrients or physical exercise for

emotional excitation.
D. Regardless of the quantity or form
of nutrients or physical exercise and
emotional statement
E. Regardless of the quantity or form
of other nutrients ingested physical
activity or emotional state


